

Week 10 Solutions

Math 33A

Written by Victoria Kala, vtkala@math.ucla.edu

① (a) $\det(A - \lambda I) = 0$: $\begin{vmatrix} 1-\lambda & 2 \\ 2 & 4-\lambda \end{vmatrix} = (1-\lambda)(4-\lambda) - 4 = 4 - \lambda - 4\lambda + \lambda^2 - 4 = \lambda^2 - 5\lambda = \lambda(\lambda - 5) = 0$ $\lambda_1 = 0, \lambda_2 = 5$

$(A - \lambda I)\vec{v} = \vec{0}$: $\begin{pmatrix} 1-\lambda & 2 & 0 \\ 2 & 4-\lambda & 0 \end{pmatrix}$ $\lambda_1 = 0$: $\begin{pmatrix} 1 & 2 & 0 \\ 2 & 4 & 0 \end{pmatrix} \rightarrow \begin{pmatrix} 1 & 2 & 0 \\ 0 & 0 & 0 \end{pmatrix}$ $x_1 = -2x_2$, x_2 free $\vec{v}_1 = \begin{pmatrix} -2 \\ 1 \\ 0 \end{pmatrix}$
 $\lambda_2 = 5$: $\begin{pmatrix} -4 & 2 & 0 \\ 2 & -1 & 0 \end{pmatrix} \rightarrow \begin{pmatrix} 2 & -1 & 0 \\ 0 & 0 & 0 \end{pmatrix}$ $2x_1 = x_2$, x_1 free $\vec{v}_2 = \begin{pmatrix} 1 \\ 2 \\ 0 \end{pmatrix}$

(b) $\det(B - \lambda I) = 0$: $\begin{vmatrix} 6-\lambda & -2 \\ -2 & 3-\lambda \end{vmatrix} = (6-\lambda)(3-\lambda) - 4 = 18 - 6\lambda - 3\lambda + \lambda^2 - 4 = \lambda^2 - 9\lambda + 14 = (\lambda - 7)(\lambda - 2) = 0$ $\lambda_1 = 7, \lambda_2 = 2$

$(B - \lambda I)\vec{v} = \vec{0}$: $\begin{pmatrix} 6-\lambda & -2 & 0 \\ -2 & 3-\lambda & 0 \end{pmatrix}$ $\lambda_1 = 7$: $\begin{pmatrix} -1 & -2 & 0 \\ -2 & -4 & 0 \end{pmatrix} \rightarrow \begin{pmatrix} 1 & 2 & 0 \\ 0 & 0 & 0 \end{pmatrix}$ $x_1 = -2x_2$, x_2 free $\vec{v}_1 = \begin{pmatrix} -2 \\ 1 \\ 0 \end{pmatrix}$
 $\lambda_2 = 2$: $\begin{pmatrix} 4 & -2 & 0 \\ -2 & 1 & 0 \end{pmatrix} \rightarrow \begin{pmatrix} 2 & -1 & 0 \\ 0 & 0 & 0 \end{pmatrix}$ $2x_1 = x_2$, x_1 free $\vec{v}_2 = \begin{pmatrix} 1 \\ 2 \\ 0 \end{pmatrix}$

(c) $\det(C - \lambda I) = 0$: $\begin{vmatrix} 2-\lambda & -1 & -1 \\ -1 & 2-\lambda & -1 \\ -1 & -1 & 2-\lambda \end{vmatrix} = (2-\lambda) \begin{vmatrix} 2-\lambda & -1 \\ -1 & 2-\lambda \end{vmatrix} + 1 \begin{vmatrix} -1 & -1 \\ -1 & 2-\lambda \end{vmatrix} - 1 \begin{vmatrix} -1 & 2-\lambda \\ -1 & -1 \end{vmatrix}$
 $= (2-\lambda)((2-\lambda)^2 - 1) + 1(-2 + \lambda - 1) - 1(1 + 2 - \lambda)$
 $= (2-\lambda)(4 - 4\lambda + \lambda^2 - 1) + \lambda - 3 + \lambda - 3$
 $= (2-\lambda)(\lambda^2 - 4\lambda + 3) + 2\lambda - 6$
 $= 2\lambda^2 - 8\lambda + 6 - \lambda^3 + 4\lambda^2 - 3\lambda + 2\lambda - 6$
 $= -\lambda^3 + 6\lambda^2 - 9\lambda$
 $= -\lambda(\lambda^2 - 6\lambda + 9)$
 $= -\lambda(\lambda - 3)^2$
 $\lambda_1 = 0, \lambda_2 = 3$

$(C - \lambda I)\vec{v} = \vec{0}$: $\begin{pmatrix} 2-\lambda & -1 & -1 & 0 \\ -1 & 2-\lambda & -1 & 0 \\ -1 & -1 & 2-\lambda & 0 \end{pmatrix}$

$\lambda_1 = 0$: $\begin{pmatrix} 2 & -1 & -1 & 0 \\ -1 & 2 & -1 & 0 \\ -1 & -1 & 2 & 0 \end{pmatrix} \xrightarrow{R_1 \leftrightarrow R_2} \begin{pmatrix} -1 & 2 & -1 & 0 \\ 2 & -1 & -1 & 0 \\ -1 & -1 & 2 & 0 \end{pmatrix} \xrightarrow{\substack{2R_1 + R_2 \rightarrow R_2 \\ R_3 - R_1 \rightarrow R_3}} \begin{pmatrix} -1 & 2 & -1 & 0 \\ 0 & 3 & -3 & 0 \\ 0 & -3 & 3 & 0 \end{pmatrix} \xrightarrow{\substack{-R_1 \rightarrow R_1 \\ \frac{1}{3}R_2 \rightarrow R_2 \\ R_3 + R_2 \rightarrow R_3}} \begin{pmatrix} -1 & 2 & -1 & 0 \\ 0 & 3 & -3 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}$
 $\begin{pmatrix} 1 & -2 & 1 & 0 \\ 0 & 1 & -1 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix} \xrightarrow{2R_2 + R_1 \rightarrow R_1} \begin{pmatrix} 1 & 0 & -1 & 0 \\ 0 & 1 & -1 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}$ $x_1 = x_3$, $x_2 = x_3$, x_3 free $\vec{v}_1 = \begin{pmatrix} 1 \\ 1 \\ 1 \\ 0 \end{pmatrix}$

$\lambda_2 = 3$: $\begin{pmatrix} -1 & -1 & -1 & 0 \\ -1 & -1 & -1 & 0 \\ -1 & -1 & -1 & 0 \end{pmatrix} \xrightarrow{\substack{R_2 - R_1 \rightarrow R_2 \\ R_3 - R_1 \rightarrow R_3}} \begin{pmatrix} -1 & -1 & -1 & 0 \\ 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 \end{pmatrix}$ $x_1 = -x_2 - x_3$, x_2, x_3 free $\begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} -x_2 - x_3 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} x_2 + \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix} x_3$
 $\vec{v}_2 = \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix}, \vec{v}_3 = \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix}$

② (a) $\vec{v}_1 = \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix}, \vec{v}_2 = \begin{pmatrix} 1 \\ 2 \\ 1 \end{pmatrix}$

$\vec{w}_1 = \vec{v}_1 = \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix}$

$\vec{u}_1 = \frac{1}{\sqrt{5}} \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix}$

$\vec{w}_2 = \vec{v}_2 - \text{proj}_{\vec{w}_1}(\vec{v}_2) = \begin{pmatrix} 1 \\ 2 \\ 1 \end{pmatrix} - \frac{(\begin{pmatrix} 1 \\ 2 \\ 1 \end{pmatrix} \cdot \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix})}{(\begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix} \cdot \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix})} \begin{pmatrix} -2 \\ 1 \\ 1 \end{pmatrix} = \begin{pmatrix} 1 \\ 2 \\ 1 \end{pmatrix} - \vec{0} = \begin{pmatrix} 1 \\ 2 \\ 1 \end{pmatrix}$

$\vec{u}_2 = \frac{1}{\sqrt{5}} \begin{pmatrix} 1 \\ 2 \\ 1 \end{pmatrix}$

$$Q = \begin{pmatrix} -2/\sqrt{5} & 1/\sqrt{5} \\ 1/\sqrt{5} & 2/\sqrt{5} \end{pmatrix} \quad D = \begin{pmatrix} 0 & 0 \\ 0 & 5 \end{pmatrix}$$

$$\text{check: } QDQ^T = \begin{pmatrix} -2/\sqrt{5} & 1/\sqrt{5} \\ 1/\sqrt{5} & 2/\sqrt{5} \end{pmatrix} \begin{pmatrix} 0 & 0 \\ 0 & 5 \end{pmatrix} \begin{pmatrix} -2/\sqrt{5} & 1/\sqrt{5} \\ 1/\sqrt{5} & 2/\sqrt{5} \end{pmatrix} = \begin{pmatrix} 0 & \sqrt{5} \\ 0 & 2\sqrt{5} \end{pmatrix} \begin{pmatrix} -2/\sqrt{5} & 1/\sqrt{5} \\ 1/\sqrt{5} & 2/\sqrt{5} \end{pmatrix} = \begin{pmatrix} 1 & 2 \\ 2 & 4 \end{pmatrix} = A \quad \checkmark$$

$$(b) \vec{v}_1 = \begin{pmatrix} -2 \\ 1 \end{pmatrix}, \vec{v}_2 = \begin{pmatrix} 1 \\ 2 \end{pmatrix} \quad \text{same vectors as (a)} \rightarrow \vec{u}_1 = \frac{1}{\sqrt{5}} \begin{pmatrix} -2 \\ 1 \end{pmatrix}, \vec{u}_2 = \frac{1}{\sqrt{5}} \begin{pmatrix} 1 \\ 2 \end{pmatrix}$$

$$Q = \begin{pmatrix} -2/\sqrt{5} & 1/\sqrt{5} \\ 1/\sqrt{5} & 2/\sqrt{5} \end{pmatrix} \quad D = \begin{pmatrix} 7 & 0 \\ 0 & 2 \end{pmatrix}$$

$$\text{check: } QDQ^T = \begin{pmatrix} -2/\sqrt{5} & 1/\sqrt{5} \\ 1/\sqrt{5} & 2/\sqrt{5} \end{pmatrix} \begin{pmatrix} 7 & 0 \\ 0 & 2 \end{pmatrix} \begin{pmatrix} -2/\sqrt{5} & 1/\sqrt{5} \\ 1/\sqrt{5} & 2/\sqrt{5} \end{pmatrix} = \begin{pmatrix} -14/\sqrt{5} & 2/\sqrt{5} \\ 7/\sqrt{5} & 4/\sqrt{5} \end{pmatrix} \begin{pmatrix} -2/\sqrt{5} & 1/\sqrt{5} \\ 1/\sqrt{5} & 2/\sqrt{5} \end{pmatrix} = \begin{pmatrix} \frac{28}{5} + \frac{2}{5} & \frac{-14}{5} + \frac{4}{5} \\ \frac{-14}{5} + \frac{4}{5} & \frac{28}{5} + \frac{2}{5} \end{pmatrix} = \begin{pmatrix} 6 & -2 \\ -2 & 3 \end{pmatrix} = B \quad \checkmark$$

$$(c) \vec{v}_1 = \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}, \vec{v}_2 = \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix}, \vec{v}_3 = \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix}$$

$$\vec{w}_1 = \vec{v}_1 = \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}$$

$$\vec{w}_2 = \vec{v}_2 - \text{proj}_{\vec{w}_1}(\vec{v}_2) = \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} - \frac{\begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} \cdot \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}}{\begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix} \cdot \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}} \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix} = \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} - \vec{0} = \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix}$$

$$\vec{w}_3 = \vec{v}_3 - \text{proj}_{\vec{w}_1}(\vec{v}_3) - \text{proj}_{\vec{w}_2}(\vec{v}_3) = \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix} - \frac{\begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix} \cdot \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}}{\begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix} \cdot \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}} \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix} - \frac{\begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix} \cdot \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix}}{\begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} \cdot \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix}} \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} = \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix} - \vec{0} - \frac{1}{2} \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} = \begin{pmatrix} -1/2 \\ -1/2 \\ 1 \end{pmatrix}$$

$$\vec{u}_1 = \frac{1}{\sqrt{3}} \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix} \quad \vec{u}_2 = \frac{1}{\sqrt{2}} \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} \quad \vec{u}_3 = \frac{1}{\sqrt{6}} \begin{pmatrix} -1 \\ -1 \\ 2 \end{pmatrix}$$

$$Q = \begin{pmatrix} 1/\sqrt{3} & -1/\sqrt{2} & -1/\sqrt{6} \\ 1/\sqrt{3} & 1/\sqrt{2} & -1/\sqrt{6} \\ 1/\sqrt{3} & 0 & 2/\sqrt{6} \end{pmatrix} \quad D = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 3 \end{pmatrix}$$

$$\text{check: } QDQ^T = \begin{pmatrix} 1/\sqrt{3} & -1/\sqrt{2} & -1/\sqrt{6} \\ 1/\sqrt{3} & 1/\sqrt{2} & -1/\sqrt{6} \\ 1/\sqrt{3} & 0 & 2/\sqrt{6} \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 3 \end{pmatrix} \begin{pmatrix} 1/\sqrt{3} & 1/\sqrt{3} & 1/\sqrt{3} \\ -1/\sqrt{2} & 1/\sqrt{2} & 0 \\ -1/\sqrt{6} & -1/\sqrt{6} & 2/\sqrt{6} \end{pmatrix} = \begin{pmatrix} 0 & -3/\sqrt{2} & -3/\sqrt{6} \\ 0 & 3/\sqrt{2} & -3/\sqrt{6} \\ 0 & 0 & 6/\sqrt{6} \end{pmatrix} \begin{pmatrix} 1/\sqrt{3} & 1/\sqrt{3} & 1/\sqrt{3} \\ -1/\sqrt{2} & 1/\sqrt{2} & 0 \\ -1/\sqrt{6} & -1/\sqrt{6} & 2/\sqrt{6} \end{pmatrix} = \begin{pmatrix} 0 + \frac{3}{2} + \frac{3}{6} & 0 - \frac{3}{2} + \frac{3}{6} & 0 + 0 - \frac{6}{6} \\ 0 - \frac{3}{2} + \frac{3}{6} & 0 + \frac{3}{2} + \frac{3}{6} & 0 + 0 - \frac{6}{6} \\ 0 + 0 - \frac{6}{6} & 0 + 0 - \frac{6}{6} & 0 + 0 + \frac{12}{6} \end{pmatrix} = \begin{pmatrix} 2 & -1 & -1 \\ -1 & 2 & -1 \\ -1 & -1 & 2 \end{pmatrix} = C \quad \checkmark$$